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Directions for the following items: Read the following
passages and answer the items that follow each passage.
Your answers to these items should be based on the
passages only.
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Passage
Human history abounds in claims and theories confining
the right of governing to a few select citizens. Exclusion of
the many is justified on the ground that human beings may
be rightfully segregated for the good of society and
viability of the political process.

1. Which one of the following statements is least
essential as a part of the argument in the above
passage?

Man seeks control over external things affecting him.

(b) In society, there are ‘super’ and ‘sub-human’ beings.

(c) Exceptions to universal citizen participation are
conducive to systemic efficacy.

(d) Governing implies recognition of disparities in
individual capacities.
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Passage

By 2050, the Earth’s population will likely have swelled
from seven to nine billion people. To fill all those
stomachs— while accounting for shifting consumption
patterns, climate change, and a finite amount of arable
land and potable water— some experts say food
production will have to double. How can we make the
numbers add up? Experts say higher yielding crop varieties
and more efficient farming methods will be crucial. So will
waste reduction. Experts urge cities to reclaim nutrients
and water from waste streams and preserve farmland.
Poor countries, they say, can improve crop storage and
packaging and rich nations could cut back on resource-
intensive foods like meat.

2.  Which one of the following statements best sums up
the above passage?

(a) The population of the world is growing very fast.

(b) Food security is a perennial problem only in
developing countries.

(c) The world does not have enough resources to meet
the impending food scarcity

@ Food security is increasingly a collective challenge.
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Passage
Many people in India feel that if we cut our defence
expenditure on weapon-building, we can create a climate
of peace with our neighbours, subsequently reducing the
conflict or creating a no-war situation. People who
proclaim such ideas are either the victims of war or the
propagators of false argument.
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3. With reference to the above passage, which of follow
is the most valid assumption?

(a) Building of weapons systems by us has instigated our

neighbours to wage wars against us.

The greater spending on weapon-building by us

would lessen the possibility of armed conflict with our

neighbours.

(c) It is necessary to have state of the art weapons
systems for national security.

(d) Many people in India believe that we are wasting our
resources on weapon-building.
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Passage

India accounts for nearly a fifth of the world’s child deaths.
In terms of numbers, it is the highest in the world nearly
16 lakhs every year. Of these, more than half die in the
first month of life. Officials believe that the reason for this
is the absence of steps to propagate basic health practices
relating to breast feeding and immunisation. Also the large
reproductive population of 2.6 crore remains bereft of care
during the critical phases of pregnancy and post-delivery.
Added to this is the prevalence of child marriages,
anaemia among young women and lack of focus on
adolescent sanitation, all of which impact child death
rates.

4. Which is the critical inference that can be made from
the above passage?

(a) A lot of Indians are illiterate and hence do not
recognize the value of basic health practices.

(b) India has a very huge population and the government
alone cannot manage public health services.

|E| Universalization and integration of maternal health

and child health services can effectively address the

problem.

(d) The nutrition of women in child bearing age does not
affect child mortality rate.
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Passage

Foods travel more than the people who eat them.
Grocery stores and supermarkets are loaded with
preserved and processed foods. This, however, often
leads to environmental threats, such as pollution
generated by long distance food transportation and
wastage of food during processing and transportation,
destruction of rain forests, reduced nutritional content,
increased demand for preservation and packaging. Food
insecurity also increases as the produce comes from
regions that are not feeding their own population
properly.

5. With reference to the above passage, which of the

following statements is/are true?

1. Consuming regionally grown food and not
depending on long travelled food is a part of
ecofriendly behaviour.

2. Food processing industry puts a burden on our
natural resources.

Select the correct answer using the code given below:

(a) 1 only (b) 2 only@Both 1 and 2 (d) Neither 1 nor 2
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Passage

| must say that, beyond occasionally exposing me to
laughter, my constitutional shyness has been of no
disadvantage whatever. In fact | can see that, on the
contrary, it has been all to my advantage. My hesitancy in
speech, which was once an annoyance, is now a pleasure.
Its greatest benefit has been that it has taught me the
economy of words. | have naturally formed the habit of
restraining my thoughts. And | can now give myself the
certificate that a thoughtless word hardly ever escapes
my tongue or pen. | do not recollect ever having had to
regret anything in my speech or writing. | have thus been
spared many a mishap and waste of time. Experience has
taught me that silence is part of the spiritual discipline of
a votary of truth. Proneness to exaggerate, to suppress
or modify the truth, wittingly or unwittingly, is a natural
weakness of man, and silence is necessary in order to
surmount it. A man of few words will rarely be
thoughtless in his speech; he will measure every word.
We find so many people impatient to talk. There is no
chairman of a meeting who is not pestered with notes for
permission to speak. And whenever the permission is
given the speaker generally exceeds the time-limit, asks
for more time, and keeps on talking without permission.
All this talking can hardly be said to be of any benefit to
the world. It is so much waste of time. My shyness has
been in reality my shield and buckler. It has allowed me
to grow. It has helped me in my discernment of truth.

6. The author says that a thoughtless word hardly ever
escapes his tongue or pen. Which one of the following is
not a valid reason for this?

He has no intention to waste his time.

(b) He believes in the economy of words.

(c) He believes in restraining his thoughts.

(d) He has hesitancy in his speech.

7. The most appropriate reason for the author to be
spared many a mishap is that
he hardly utters or writes a thoughtless word.
(b) heis a man of immense patience.
(c) he believes that he is a spiritual person.
(d) he s a votary of truth.

8. For the author, silence is necessary in order to
surmount

(a) constitutional shyness
(c) suppression of thoughts

b) hesitancy in speech
tendency to overstate

TR=oe

H ggs R WX BE [HAT § b A TS erfferaT & BT,
AT TST-PET TR BT U & S b, 3RT RAAY e 3iR P
THATT TE g3 AT H, STTST q T &, P 57ep Froryar, |4
wwmaé’rgmlaﬁaﬁr mﬁﬂﬁﬂqﬁ%ﬁww g 37l
W%lmmwam ﬁasgmﬁﬁsﬂﬁrq?remhﬁ
ﬁa‘aﬁmmﬁmﬁraﬁﬁaﬁwm TG Y ArTEd WEo &
qsns‘laﬁvaaﬁ@aaﬁugm-qsr%ﬂwg foF BT S ]
Wﬁﬁmﬁaﬁamé’raﬁs‘emﬁmmamﬁmaﬁ
q@mﬁ?aﬁwmﬁ@%ﬁﬁﬂﬁmrﬂ?mqﬁrmﬂw
TSl 811 39 ORE & e WeRT & s & 3R ART a9 WY &
&1 o ¥ T 75 Ricama & R e & SuRTed TG A S
srr%ml‘wmmmm 1 TS Y T§ F@TIIRE FECIRT 8|
5 T8 TFI-3ITSIY ¥ 3TARTR TGT-9aT PN SYefaT & 72T oY e
arg & S fourar & ar A w9 F Fear 81 39 W oo ue &
1T oft | amaeTe 21 B9 e arer T =R 7 demm; 3o
WA T B AleRT 87 <@ § fp 95 A 7787 dteq & oy
wwﬁ%lﬁﬂﬁawwwmmmﬁqmmaﬁaﬁaﬁ
sﬁwi%rwﬁ qrelt firet | T ¥ BT Ut 8l 3R o oY o]
BT AT T ST & Y aehT AR TR - A 99
SITT 8, 3R 3rfres o b 5iT Prar €, 3% AT sotrera & o)
aeTelT YgaT 81 39 AR Sem W g BT B WWETW
AT & FE O WHAT ¥ TE WHT FT OR AUAT ¥ AN
FAoTefieraT SR A FTA SR S & T W I I
gRuer 81 T wﬁmlwaﬁq%ﬂﬁ%ﬁq?rmm
farem

6. g% PeaT & fp AN SNV IT B W AT AR e &Y
ﬁé;ﬁﬁﬁﬁﬁlﬁmﬁmﬁﬁﬁq—ww,maaw
TE 8?2

(a) 3O T SIS PR BT SHBT PIS IIT T 21

(b) T oree} &Y Rrareafar F framy dxar &1

(c) TE U RraRT o= e & H frame v &

(d) S e G BT 1

7. D P 3D TARI W T IFT BT WaATUD I9GH HROT ]
27

(a) ag fomT R e € S ereq Serar AT feraar 81

(b) TE 3T Rferelt wafeh Bl

(c) SwT faram & R ag v smeanfenss <t B

(d) TE AT BT IUNG B

8. oI & {1y, P R foror a6 fo1v i+ armaeges 872
(a) TS eFfieTaT (b) Sl & Wl
(c) RRRI R BT (d) TST-9T TR drer Bl g

Passage
The richer States have a responsibility to cut down
carbon emissions and promote clean energy
investments. These are the States that got electricity,
grew faster and now have high per capita income,
making them capable of sharing India’s burden of
becoming eco-friendly. Delhi, for example, can help by
generating its own clean electricity using solar rooftop
panels or even help poor States finance their clean
energy projects. It is no secret that State Electricity
Boards, which control 95% of the distribution network,
are neck-deep in losses. These losses further discourage
State utilities from adopting renewable energy as it is
more expensive than fossil fuels.
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21. Which among the following is the most logical and

rational _assumption that can be made from the above

passage?

The richer States must lead in the production and
adoption of renewable energy.

(b) The poor States always have to depend on rich States
for electricity.

(c) The State Electricity Boards can improve their
finances by undertaking clean energy projects.

(d) The high economic disparity between the rich and
poor States is the major cause of high carbon
emissions in India.
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Passage

Set against a rural backdrop, ’stench of kerosene’ is the
story of a couple, Guleri and Manak, who have been
happily married for several years but do not have a child.
Manak’s mother is desperate to have a grandchild to carry
on the family name. Hence, she gets Manak remarried in
Guleri’s absence. Manak, who acts as a reluctant but
passive spectator, is meanwhile, informed by a friend that
Guleri, on hearing about her husband’s second marriage,
poured kerosene on her clothes and set fire to them.
Manak is heartbroken and begins to live as if he were a
dead man. When his second wife delivers a son, Manak
stares at the child for a long time and blurts out, “Take him
away! He stinks of kerosene.”

22. This is a sensitive issue-based story which tries to
sensitise the readers about

(a) Male chauvinism and infidelity

(b) Love and betrayal

(c) Lack of legal safeguards for women

Influence of patriarchal mindset
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Passage

The ultimate aim of government is not to rule or control
by fear, nor to demand obedience, but conversely, to free
every man from fear, that he may live in all possible
security. In other words, to strengthen his natural right to
exist and work without injury to himself or others. The
object of government is not to change men from rational
beings into beasts or puppets. It should enable them to
develop their minds and bodies in security, and to employ
their reason unshackled.

23. Which among the following is the most logical and

rational inference that can be made from the above

passage?

The true aim of government is to secure the citizens
their social and political freedom.

(b) The primary concern of government is to provide
absolute social security to all its citizens.

(c) The best government is the one that allows the
citizens to enjoy absolute liberty in all matters of life.

(d) The best government is the one that provides
absolute physical security to the people of the
country.
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Passage

Our municipal corporations are understaffed. The issue
of skills and competencies of the staff poses an even
greater challenge. Urban services delivery and
infrastructure are complex to plan and execute. They
require a high degree of specialization and
professionalism. The current framework within which
municipal employees, including senior management, are
recruited does not adequately factor in the technical and
managerial competencies required. Cadre and
recruitment rules only specify the bare minimum in
academic qualifications. There is no mention of
managerial or technical competencies, or of relevant
work experience. This is the case with most municipal
corporations. They also suffer from weak organisation
design and structure.

24. Which among the following is the most logical and
rational assumption that can be made from the above
passage?

(a) The task of providing urban services is a complex

issue which requires the organisational expansion of

municipal bodies all over the country.

Our cities can provide better quality of life if our

local government bodies have adequate staff with

required skills and competencies.

(c) Lack of skilled staff is due to the absence of
institutions which offer the requisite skills in city
management.

(d) Our country is not taking advantage of the
demographic dividend to manage the problems
associated with rapid urbanization.
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Passage
Flamingos in large flocks in the wild are social and
extremely loyal. They perform group mating dances.
Parents are very fond of their chicks, gathering them
into creches for protection while both males and
females fly off to search for food.

25. Which among the following is the most logical

corollary to the above passage?

(a) Mass nesting in all species of birds is essential to
ensure complete survival of their offspring.

(b) Only birds have the capacity to develop social
behaviour and thus can do mass nesting to raise
their chicks in safety.

IE Social behaviour in some species of birds increases
the odds of survival in an unsafe world.

(d) All species of birds set up creches for their chicks to
teach them social behaviour and loyalty.
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SUFHA (BRI 872

(a) ™ wefier & o[l & wrfee e (A AR
sifrart & arfes St waRkmat o ave Shifea o+ w81

(b) Rak uferl § Arfore aeR faefia &= Y e/ ar
Bt & ofT: T oUW IWil B [RAMYEF UTe™ F fg
ATfE ST 79T Wt Bl

(c) T© TN $ IR F AT saeR, sriRfan forer &
SR a9 & Y Ryswramai &Y agT 3T 21

(d) W wrefisT & geht 3w Iuil B AHEIRT® AR SR
forer R & fT Sheil (creches) Y FATIAT R &
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Passage

Vast numbers of Indian citizens without bank accounts live
in rural areas, are financially and functionally illiterate,
and have little experience with technology. A research
study was conducted in a particular area in which
electronic wage payments in Mahatma Gandhi National
Rural Employment Guarantee Scheme (MGNREGS) are
meant to go directly to the poor. It was observed that
recipients often assume that the village leader needs to
mediate the process, as was the case under the previous
paper-based system. Among households under this
research study area who claimed to have at least one bank
account, over a third reported still receiving MGNREGS
wages in cash directly from a village leader.

26. What is the most logical, rational and crucial message

that is implied in the above passage?

(a) MGNREGS should be extended only to those who
have a bank account.

(b) The paper-based system of payments is more efficient
than electronic payment in the present scenario.

(c) The goal of electronic wage payments was not to
eliminate mediation by village leaders.

It is essential to provide financial literacy to the rural
poor.

TRevT

TET T WA H W RN AFRS Jrefor & 7 e § s
o @ T8 § ¥ i ok TeRfce (haeMe) WO W
siffara €, ok dienfdht & @rer st ST T B T
19w & ¥, gl TEreAT AT WA AT ASATR RS
ST (MGNREGS) & 3ichid sﬁa—c’rﬁm T & w0 F
aorgdY ¥ Frefat @ S o A R, memm
foarT T 7E wmﬁﬁqmaﬁmﬂmﬁrmﬁm g A ol
& R 557 R 3 i & AT B TeavRET AT &, S e o
¥ SRS UR el egawer i @munsvmwa?
ST & JAeTe, PH-V-BT U §ob @IAT I@T BT AT BT
arer IRARY ¥ I va-Rigrg A arftres gRaRY ¥ qamm f6 & anit
%ﬁgemeesﬁﬁmmﬁﬁémﬂﬁmﬁmm
TR

26. IRfw ufews A fifea walfe aifés, adw ek

Teeaql W T &2

(a) MGNREGS &T TRiR Rith S aa fpar ST =iy faeip
9T S @rardl

(b) aﬁqﬁqﬁgeuﬁmwmﬁawmw

AT geveelT & 31freh 287 B

(c) qﬁﬂ@f%%ﬂﬂﬁmmﬁmmm&rm%ﬁm@raﬁ
TERAT Y HTH BT & 2

(d) TTOT it Y fNT ATeRET SUeTes BT ITa9TH Bl

Passage

Individuals, groups and leaders who promote human
development operate under strong institutional,
structural and political constraints that affect policy
options. But experience suggests broad principles for
shaping an appropriate agenda for human development.
One important finding from several decades of human
development experience is that focusing exclusively on
economic growth is problematic. While we have good
knowledge about how to advance health and education,
the causes of growth are much less certain and growth is
often elusive. Further, an unbalanced emphasis on growth
is often associated with negative environmental
consequences and adverse distributional effects. The
experience of China, with its impressive growth record,
reflects these broader concerns and underlines the
importance of balanced approaches that emphasize
investments in the non-income aspects of human
development.

27. With reference to the above passage, consider the

following statements:

1. In developing countries, a strong institutional
framework is the only requirement for human
development and policy options.

2. Human development and economic growth are not
always positively inter-related.

3. Focusing only on human development should be the
goal of economic growth.

Which of the above statements is/are correct?

(a) 1 only (b) 2 and 3 only @2 only (d)1,2and 3

28. With reference to the above passage, the following

assumptions have been made:

1. Higher economic growth is essential to ensure
reduction in economic disparity.

2. Environmental degradation is sometimes a
consequence of economic growth.

Which of the above is/are valid assumption/assumptions?

(a) 1 only @2 only (c)Both 1and 2 (d) Neither I nor 2

gReoe
qMg R @1 Gaffa e alel @afh, @9g SR A9 By
AT, mam‘qiﬁsﬁ'\fﬂmﬁﬁﬁﬁmwﬁr%mm
FRa & 9 AT & Rrer i @ & fig orva 7w
a3 & 5 999 e &g Wm%aﬁw
& & firq caTu Rrgial B aaeddar B 81 3P gerT
qTE Ry & 3TWa I 9 U Fe<aqUl a1 BT gar o g f6
m&ﬁmﬁgwﬁmmﬁwﬁﬁﬁamﬁrﬁm
IeU=T B 1 SR URT TR AR RIS B S BT B
T Y 3Tt TEHN A 7, AR Hafg e FRoN | B
T W § P T § 3R WAy ‘e wre §1 T &
mwmﬁamﬁwéﬁrﬁm IR IR THRICHD
wﬁvmsﬁ?ﬁmw#uﬁwmiﬁﬁ%lmﬁg%wmﬁ
a%ﬁh'l'—rwﬁ‘mao'rmm T T9F TRIBRY B TR
PRAT & 3R Wﬁlﬂ?mﬂiﬂ?mma’rfrﬁﬁsraﬁmm
Y e HfTT SREHIUT 3 AT Y T 3 HERT U e T &1

27. S uReos & W=y ¥, fr=fafed dodl ) fER
CAEN

1. faoraehier 2o &, =g fdem ok Mify freenr & fag
TR AERATTRT AT &1 TpHTS JTeredehelT gl

2. w9 e iR aniie wWafs wea woRTTe w9 9
TRER Wl 7T B

3. &ad 9 e W) & 97 3, e wafe @1 @ed
BT AT

I BT F A PI-AIRY TE 37

(a) T 1 (b) PaeT2 3R 3 (c) P2 (d) 1, 2 3R 3

28. IRIH afews & = , frriferRa aRomd g 1 ©

1. o smraET ¥ B I & & g SeaeR
e wafe srfrard &1

2. yHfaRer @1 frlieRe, @i ol wafy @1 &
oo BT 81

IIRIH F A B- Fer erRom/eROTY /82

(a) PaeT1 (b) PaT2 (c) 1 3R 2 T (d) TaT1, TE 2
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Passage
Climate change is already making many people hungry all
over the world, by disrupting crop yields and pushing up
prices. And it is not just food but nutrients that are
becoming scarcer as the climate changes. It is the poorest
communities that will suffer the worst effects of climate
change, including increased hunger and malnutrition as
crop production and livelihoods are threatened. On the
other hand, poverty is a driver of climate change, as
desperate communities resort to unsustainable use of
resources to meet current needs.

41. Which among the following is the most logical

corollary to the above passage?

(a) Government should allocate more funds to poverty
alleviation programmes and increase food subsidies
to the poor communities.

m Poverty and climate impacts reinforce each other
and therefore we have to re-imagine our food
systems.

(c) All the countries of the world must unite in fighting
poverty and malnutrition and treat poverty as a
global problem.

(d) We must stop unsustainable agricultural practices
immediately and control food prices.

gRepT

Siear] gRaci & PIRUT BRIc Bl SUT # BT 3R HiFa
¥ gfg @9 &t aoe &, Ry F 957 AR AT ugA A &
Y BT RIGR 81 SR STerary aRed & HRoT Haet @rer &
el afew diwe-ae off SToafE 8k o 3 &1 S-S weat
Y IuoT 3R ST R @R A Rl a9 & 8, aa W
TR B &, YT 3R PUNr & qe S T, AR
qRacl & HER X ATET I IR ST TS SR AR, TR
Sterarg afkad 6t HRS T, Fife FRIT THE™ ST
AT STTALIHATST BT ORT HRA P T FHTEAT P TRV
(3TTIRCTaeT) SUANRT T T3 ot &

4. Frafafed § § @i9-a1, IGw TRevs @1 waife

AT UM (@RIeR)) &2

(a) TROR P TG ST SRIHAT & ¢ 1f¥res Ffery @t
Qe SuSH! (WiaSton) § gfe ST anfvl

(b) FrefTaT FoUT STeaTy & FTT TH-GER BY FGTAT I & SR
FaeTg & aToelt wTer sonferat Y gedeusT Hvet 8

(c) fryr & it e &1 T iR puiwor F e F fow
TPHYS BT & 11T SR TR T Ua AT TR Y
Tfer ST TIfEN

(d) & T SRR (SFTveTae) PRy ughl @ 48 %
T =IfEY 3R wrer el o PRI wET e

Passage

The Global Financial Stability Report finds that the share of
portfolio investments from advanced economies in the
total debt and equity investments in emerging economies
has doubled in the past decade to 12 percent. The
phenomenon has implications for Indian policy makers as
foreign portfolio investments in the debt and equity
markets have been on the rise. The phenomenon is also
flagged as a threat that could compromise global financial
stability in a chain reaction, in the event of United States
Federal Reserve’s imminent reversal of its “Quantitative
Easing” policy.

42. Which among the following is the most rational and

critical inference that can be made from the above

passage?

(a) Foreign portfolio investments are not good for
emerging economies.

(b) Advanced economies undermine the global financial
stability.

(c) India should desist from accepting foreign portfolio
investments in the future.

Emerging economies are at a risk of shock from

advanced economies.

TReBg

farer e Reerar R (F@eer Bzt Refafed Rard)
< o & fh ST erefegaveal 9, SR gF srfegaveratt
& et BT 3R 3feracy ferarett &, foparm ram aiéwiferar fererer &t
37T froet gere 3 TAT 81a 12 IR 8 T 81 S geT &
YRR Hify et w yua S € aife ssor qer
SRFS IToIRY A ferelt AiEwmiferat frrer agar <aT 81 39 T
BT G 3TeieT ft g 97 @7 § fF gArses wRew hevd
fod Y “amEmead et (Faifeefea $imy ify § s
IeepavT (3Rwmie Rexie) S &F 39T 3, U aeTag fifshar
P & T foryr oY fii Rerar @er & oS @t 1

42. SYw uReus ¥, fr=fafed & & a1 waife

T 3R o ST (SR fFreTer ST wea 87

(a) SuReH g3 Srefegavaralt & g el aiémiferar frarer
3T TE &

(b) Sa 3rfave’ fay Fr Rl Rerar &1 @rger
HT B

(c) WRT B ufesy # fael DIEwIferaT fFrer TNeR F &
AT AR

(d) SURCH §S Srefegaverail ®I, S refegavars § frem
Tl 3TEITe T WeRT Y& &l
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Passage

Open defecation is disastrous when practised in very
densely populated areas, where it is impossible to keep
away human faeces from crops, wells, food and children’s
hands. Groundwater is also contaminated by open
defecation. Many ingested germs and worms spread
diseases. They prevent the body from absorbing calories
and nutrients. Nearly one-half of India’s children remain
malnourished. Lakhs of them die from preventable
conditions. Diarrhoea leaves Indians’ bodies smaller on
average than those of people in some poorer countries
where people eat fewer calories. Underweight mothers
produce stunted babies prone to sickness who may fail to
develop their full cognitive potential. The germs released
into environment harm rich and poor alike, even those
who use latrines.

43. Which among the following is the most critical

inference that can be made from the above passage?

(a) The Central and State governments in India do not
have enough resources to afford a latrine for each
household.

(b) Open defecation is the most important public health
problem of India.

@ Open defecation reduces the human capital of India’s
workforce.

(d) Open defecation is a public health problem in all
developing countries.

TR=e

ol ¥ TAATT SABRY 8 AT &, T4 I AR AT JTarer
arer &5 IIEIR ¥ ST 7 T &Y, et A 7T Py e,
T3, @rer AR 3R geat & el W ¥ @ SRivg g
%lﬂﬁqma(mwﬁ@?‘r ﬁﬁwwqmﬁmﬁﬁﬁ
m%lmﬁwmﬁwsﬁ?aﬁm St therer #1
¥ ¥R B BT 3k AP aedt BT STTITIT B SlEey
B TE TN VRS P TRTHT MY qef FURT a9 I 81 S

A o, ST AT W AR A § Ry e w2l
IRNR (SARAT) % BRUT YRR & R S T | ST
AN ¥ B § S s g et &, orgt ' H
aﬁmmﬁﬁméﬁﬁmm(mﬁa’) g
aﬁmﬁa(wﬁ@ﬁﬁmmﬁ%m‘rmﬁwaﬁr
RPR & dad § 3R ool q¥ GsIeHd WISl
(PR AR BT RIpRid o F SRl X8 WaHd &1 9T
P GRfERer # fRje 8 O & O 7 At R 3R T,
ﬁeﬁmﬁmﬁﬂaﬂ#maﬁ%ﬂwgﬁﬁaﬁ
gl

43. ITf aRews F Frafafea § & @i-a1, o fofas

W(gﬂﬂﬁﬂ)ﬁﬁﬂﬁﬂﬁ%?

(@) YRT $T Ry MR AT FRBRI & URT 5+ TATH AT
T & i ucde =R & foTQ Uap eftamera ery a1 |l

(b) Wﬁwwﬁmﬁwwmmw
o

(c) et ¥ HeIATT, WRA & BRIGS (F&-BIRf) $HY Aa-goit
(G hfreer) & g e &

(d) o ¥ wereaw Wit R 3o i Ao aweg
T 1

Passage

We generally talk about democracy but when it comes to
any particular thing, we prefer a belonging to our caste or
community or religion. So long as we have this kind of
temptation, our democracy will remain a phoney kind of
democracy. We must be in a position to respect a man as
a man and to extend opportunities for development to
those who deserve them and not to those who happen to
belong to our community or race. This fact of favouritism
has been responsible for much discontent and illwill in
our country.

44. Which one of the following statements best sums up

the above passage?

(a) Our country has a lot of diversity with its many
castes, communities and religions.

True democracy could be established by providing
equal opportunities to all.

(c) So far none of us have actually understood the
meaning of democracy.

(d) It will never be possible for us to establish truly
democratic governance in our country.

TR=oe

B QT SArbaisl PI a1 PR & Ux o foaelY fror-ferdrer
TR ST AR &, A & AU SAIRT AT WS AT o | e
RGHT SITET U RS 1 O dh &9 39 a<E & Yol &
I &N, TIRT Alpa Ueb IS allepes &1 X7l 85 39
Rearfr & g1 =nfe 6 s @1 a7 Y sooa B iR
R % AR 37 d@ UL of IWH AT § T fp I o
AU FHSH IT ST & &1 AR 290 ¥ YSIITd 6T I8 a2
& Ay 3R gHfeT & oy IeveT %@ 8l

44. fr=ifafea FeAl § F SH-AT 05, ITdH TReoT @1

[ATH ARTeT SR Rl 57

(a) TR 39T F 3P e, WERT 3iR et Y srcafues
ferfererar &1

(b) ST Atdpas WY B AH AWR IHR & FRATRR fomam
ST et 21

(c) wa;sﬁﬁﬁéﬁwﬁmﬁwmﬂﬁ
T

(d) TR foag it w=wa 7 8 % &7 sruw et H wean
ANPAIRND AT FATRIT PR TPl
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Passage

The existence/establishment of formal financial
institutions that offer safe, reliable, and alternative
financial instruments is fundamental in mobilising
savings. To save, individuals need access to safe and
reliable financial institutions, such as banks, and to
appropriate financial instruments and reasonable
financial incentives. Such access is not always available to
all people in developing countries like India and more so,
in rural areas. Savings help poor households manage
volatility in cash flow, smoothen consumption, and build
working capital. Poor households without access to a
formal savings mechanism encourage immediate
spending temptations.

45, With reference to the above passage, consider the

following statements:

1. Indian financial institutions do not offer any financial
instruments to rural households to mobilise their
savings.

2. Poor households tend to spend their earnings/
savings due to lack of access to appropriate financial
instruments.

Which of the statements given above is/are correct?

(a) 1 only 2 only (c) Both 1and 2 (d) Neither I nor 2

46. What is the crucial message conveyed in the passage?
(a) Establish more banks

(b) Increase Gross Domestic Product (GDP) growth rate
(c) Increase the interest rate of bank deposits

Promote financial inclusion

gf=ee
FET AAST &, TR, Rrerrii sikk dfeus Rt amaw
(IR INDCH sﬂiﬁam TSN SR el siveRe i
AT BT BFTRATRIT RFAT ST el WO | Maeqw Bl
FI IR & fQ, AfRal B da ORI IR iR ey
for<fier wwerman & gery 8 Y, 3R Sures R areEy ok
mﬁ?ﬁu;ﬁwﬁaﬁm@m%ﬁmwmaﬁ
Wwﬁﬁﬁwﬁaﬁeﬁ# 3R I W) ot grfioT &Y
&, Tt I BT g SueTey T &1 FU & T GRaRT By
Tpe) UaTg B ARRRAT & Uge ¥ geg frerdy &, IuHhr §
AT Bl B, SR erieher doif & frfor ¥ qee gt 21
WWHH%W#%%WW#WW
PR &Y & TellyT Y geTaT Rrerar &1

45. Sofw aRess & w=f ¥, Freafafed sl w® e

Hfg

1. RO i deend arfior oRarT @I, o= Taq &
WG P 17 B f=i ATe Suered 781 BRIl

2. 9 aRaR, g i At & g 7 8 & SR
SR ST Y T Y Y AR S B B

SuAH BT F A PI-AIRY a8/

(a) PaeT1 (b) a2 (c) 13X 2 AN, (d) Tar 1, TE 2

46. 33 UR=OT & FRT T Agwaqef Faer far w82
(a) 3R Yot 1 TR BT

(b) W TR ITUTE (GDP) &t Wgfg TR BT QT
(c) o o (Reuifie) uR saToT & P S@ET

(d) FiT FHRe &Y dewTfed PRt

Passage

Governments may have to take steps which would
otherwise be an infringement on the Fundamental Rights
of individuals, such as acquiring a person’s land against his
will, or refusing permission for putting up a building, but
the larger public interest for which these are done must be
authorized by the people (Parliament). Discretionary
powers to the administration can be done away with. It is
becoming more and more difficult to keep this power
within limits as the government has many number of
tasks to perform. Where discretion has to be used, there
must be rules and safeguards to prevent misuse of that
power. Systems have to be devised which minimise, if not
prevent, the abuse of discretionary power. Government
work must be conducted within a framework of recognised
rules and principles, and decisions should be similar and
predictable.

47. Which among the following is the most logical

assumption that can be made from the above passage?

(a) Government should always be given wide
discretionary power in all matters of administration.

m The supremacy of rules and safeguards should prevail
as opposed to the influence of exclusive discretion of
authority.

(c) Parliamentary democracy is possible only if the
Government has wider discretionary power.

(d) None of the above statements is a logical assumption
that can be made from this passage.

TReoe
Wﬁﬂﬁmwﬁwm%ﬁmwﬁm’féﬁ
& frog S yfr a?l'iﬂﬁl'ﬂ's'UTﬂWHT mﬁwﬁmﬁmﬁ
a?rmﬁréﬁrﬁm\fmm R ge<R Arelea &
forg YT RAT SITT &, SR ST (WE) BT Wi R
ST ITIeTd $1 MR % RESIRIGR ST T9TH 6T ST
HHaT 81 ©fp, WRBR B 3P PR I IS W@ &, 39
SIRIBR BT 1T F TG PR BST T o &7 &1 orat
fRAeTReR $T AT $RAT BT 8, 98 SW  JReR &
THUANT B AP & A7 PR T ENarr sraed g9 T1fRw
%ﬁma?raﬁsm:ﬁ'@ﬁ S et & geuarT
ﬁﬁ%#ﬁﬁwﬁmW|maﬂﬁmw
frmY iR Rrgr=al & el & arerta & Rey ST =TTy, e
foofar W W e gatpa (Bifsaeaen 8 anfew

47. IRf uRens ¥ Frfafea § & SiF-, daifte aifes

SIRUTT ST oI FhdT &7

(a) THR B e F W e W gem R
ferefer far ST anfwl

(b) wIfR & =g RAWRAR & Twrdt 8 & s,
forrY aiiR Jefurat & wafeerar srfrurd) 8- anfEw

(c) WO Ay T §WT g AR WPR BT IS
3t Ryt RrdrTfreT v 2

(d) mﬁmﬁﬁaﬁ?%ﬁmﬁmﬁmmﬂﬁ%a’rsﬂ
qRede A §TE o I
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Passage

India has suffered from persistent high inflation. Increase in
administered prices, demand and supply imbalances,
imported inflation aggravated by rupee depreciation, and
speculation - have combined to keep high inflation going. If
there is an element common to all of them, it is that many
of them are the outcomes of economic reforms. India’s
vulnerability to the effects of changes in international
prices has increased with trade liberalisation. The effort to
reduce subsidies has resulted in a continuous increase in
the prices of commodities that are administered.

61. What is the most logical, rational and crucial message

that is implied in the above passage?

(a) Under the present circumstances, India should
completely avoid all trade liberalisation policies and
all subsidies.

(b) Due to its peculiar socio-economic situation, India is
not yet ready for trade liberalisation process.

(c) There is no solution in sight for the problems of
continuing poverty and inflation in India in the near

gReoe

TR el o ERhIRT 7% a7 81 Frdfrer hierelt & gfig,
afr sk ofif 9 sriger, Uy & mﬁwa&‘
m%?rqmtﬁlﬁr 3R TSN — 3 We Rrey So
TERHIRT Y aTQ 3@ &1 a3 weft F P U WA A
T g 7w & R o W of e quR & qRom #
WM#W%W%%W@W
(TERRTHE) IR SERBROT & WA AR T B
JUSHI BT B B P TN &b mesﬁﬁzﬁqa’rﬁ
e gfg g8 & o i &

61. ST ufkeos § srafvifea waffres i, g sik
[T RATE?
a) lﬁw TRl &, wRa & o e ¥ AUR
SERIGROT BT e T it SuSH W e A
b) 3o+ ffdre arfie-aniie Reafr & aror, yRe nft
ATTRE ISRIBROT Y Ufpar F A7 SR 181 31
c) frae ufrsr § uRa & waa frdaar @ gerehifer 6t

future. FERATSAT BT PIS AT &1 fraam
Economic reforms can often create a high inflation | q) anéh; IR I ﬁqmcﬁﬁ-mpﬁ- ST IuT
economy. &
Passage gReee

No Right is absolute, exclusive or inviolable. The Right of
personal property, similarly, has to be perceived in the
larger context of its assumed legitimacy. The Right of
personal property should unite the principle of liberty with
that of equality, and both with the principle of
cooperation.

62. In the light of the argument in the above passage, which
one of the following statements is the most convincing
explanation?

(a) The Right of personal property is a Natural Right duly
supported by statutes and scriptures.

(b) Personal property is a theft and an instrument of

exploitation. The Right of personal property is

therefore violative of economic justice.

(c) The Right of personal property is violative of
distributive justice and negates the principle of
cooperation.

@ The comprehensive idea of economic justice demands

that the Right of each person to acquisition of

property has to be reconciled with that of others.

B1S off SR oW, o+ 3iR SeeaRIg T8 81 3T T,
T w&r%aﬁwwaﬁwﬁﬁ%wﬁiw
g ¥ 1 9T A —aﬁﬁrmﬂtqﬁéiaﬁﬁmﬁ
TeddT & Rigrd @71 JudT & Riged & |1, 3R 57 =1
BT GEART &b RIGIT &b QT GG ST AT

62. Iuwh aReds § Ry ¢ 7 & e ¥, Frfafea 3§ @

P T P TR ST RIETRITE TUSRor &2

(a) AferTa FufRy &1 IfeR, SRR SR arfuwat grRT
faftraa wafie, o Safife R 8

(b) SafeHTT AT T A & TAT N7 BT SUHROT Bl 37:
AfehTT e BT PR 3TRie =I1T BT Secta B

(c) =afrra wFuly @t IR frdRe o #T1 SeaoT &

TAT TEANT b FIGI BT ThRaT B

3N IR T IS fraR 3% 91 1 /T HRaT & foh

TRAF s B AHURT IO $ ARBR I, T

T 3ol & W%mmmaﬁl

(d)

Passage

The conflict between man and State is as old as State
history. Although attempts have been made for centuries
to bring about a proper adjustment between the
competing claims of State and the individual, the solution
seems to be still far off. This is primarily because of the
dynamic nature of human society where old values and
ideas constantly yield place to new ones. It is obvious that
if individuals are allowed to have absolute freedom of
speech and action, the result would be chaos, ruin and
anarchy.

63. The author’s viewpoint can be best summed up in

which of the following statements?

The conflict between the claims of State and
individual remains unresolved.

(b) Anarchy and chaos are the obvious results of
democratic traditions.

(c) Old values, ideas and traditions persist despite the
dynamic nature of human society.

(d) Constitutional guarantee of freedom of speech is not

in the interest of society.

gR=e

A U4 5T P 7T WY ST & T & foar 6 o @r
SRTERT TeIfty WRAET & T Td eafsb b SRRTeT aral & e
dTeriel S & JART §Y &, fopeq wemarT anft off 53 st
BT &1 T% A At & Fiifs = WS B TPh
wﬁsﬂa%mwﬁq—ﬁsﬁvﬁaﬁ#ﬁ?ﬂwq—q’r R
RraRt 1 e R &1 7% T & Ry af aft @Y e s
B B B RIS Taadr € & T, a7 S9PT g
eaelT, foFTeT Ud  3RTSThelT ¥ &1 WehalT 2l

63. frrferlRad FoMl § & P9-AT TP, aEs & @ F1

AT AIRTLT IR BT 872

(a) Wﬁ?ﬂﬁﬁ%ﬂﬁ%aﬁammww%

(b) SRIOTHT SR cuawdr pdifie  GRERTS %
T aRom §)

(c) A& |uTer &1 Aol gl & amENE RN qed,

fora iR oREORTY oY vET 1

qTp ¥aTc>a (SIS SiT i) Y Waenferes MRS wHToT

& A dA @ &
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Passage

Climate change is a complex policy issue with major
implications in terms of finance. All actions to address
climate change ultimately involve costs. Funding is vital for
countries like India to design and implement adaptation
and mitigation plans and projects. Lack of funding is a large
impediment to implementing adaptation plans. The scale
and magnitude of the financial support required by
developing countries to enhance their domestic mitigation
and adaptation actions are a matter of intense debate in
the multilateral negotiations under the United Nations
Framework Convention on Climate Change (UNFCCC). The
Convention squarely puts the responsibility for provision of
financial support on the developed countries, taking into
account their contribution to the stock of greenhouse gases
(GHGS) in the atmosphere. Given the magnitude of the task
and the funds required, domestic finances are likely to fall
short of the current and projected needs of the developing
countries. Global funding through the multilateral
mechanism of the Convention will enhance their domestic
capacity to finance the mitigation efforts.

64. According to the passage, which of the following is/are

a matter of intense debate in the multilateral negotiations

under UNFCCC regarding the role of developing countries

in climate change?

1. The scale and size of required financial support.

2. The crop loss due to climate change in the developing
countries.

3. To enhance the mitigation and adaptation actions in
the developing countries.

Select the correct answer using the code given below:

(a) 1 only (b) 2 and 3 only @1 and 3only (d) 1,2 and 3

65. In this passage, the Convention puts the responsibility

for the provision of financial support on the developed

countries because of

1. their higher level of per capita incomes.

2. heir large quantum of GDP.

3. their large contribution to the stock of GHGs in the
atmosphere.

Select the correct answer usin

(a)1only (b)1and2only

the code given below:
3only (d)1,2and3

66. With regards to developing countries, it can be inferred

from the passage that climate change is likely to have

implications on their

1. domestic finances.

2. capacity for multilateral trade.

Select the correct answer using the code given below:
lonly (b)2only (c)Both1and2 (d)Neither1nor2

67. Which one of the following is essentially discussed in

the passage?

Conflict between developed and developing countries
regarding support for mitigation

(b) Occurrence of climate change due to excessive
exploitation of natural resources by the developed
countries

(c) Lack of political will on the part of all the countries to
implement adaptation plans

(d) Governance problems of developing countries as a
result of climate change

TRzeT

Steary aRecd e QT Sifee ARFTT 98T 81 o e )
W;{mmé‘lmqﬁaﬁ?ﬁﬁqﬁmﬁam
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(rSeeem) T =gt (Rifeter) @Y Frorra iR
RS % Afideu AR BRI % oy frde
(BfEM) srcamasaes g1 il @1 s sFEe ArorTe &
mﬁuﬂﬁwa@wﬁlmqﬁaﬂ?wmw
mﬁ?ﬁ(m#@mmaﬁ?mmmﬁﬁe
1) (UNFCCC) & aarie Fgwao aratelt ¥, Rprrefer
%eﬁmmw—aﬁawwwwwas e &
f1q SnfreT Rreiir WeTarT BT SHMT QT GRETOT e Tt &
v €1 98 wer R St i, argHsa § fersw fat
(GHGs) ¥ ST & S ANTE & YR R, RhT werar
BT UTTLTT B DY T BT A DTSR STerar 81 39 SR &Y
amT quT S fay fial ft smaeaear #t @ gy,
Rrprrelier Qe & dAig@Er T AR (oRS)
meawsﬁ%hqmaﬁaﬁ?ﬁummmmzﬁ
FYTEET R wmm(wMzﬁm&ﬁuﬁﬁqTﬁﬁras
A1 W fopar T Afye e, Wmﬂ?ﬁﬁw
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64. 3 IREOT & IR, STeraryg uRac ¥ frsraeiier ot

$i wﬁm%wﬁ#uwccc%aﬁm&ﬁuaﬁaﬁﬁ

fereterRad & & PI-aTRY TeT Tat w1 RivT &8

1. snufira Rfya werrT o1 YW R afEmon

2. fpraeiia e ¥ Srerary afad & HRUT @ arel St
#r g1t

3. ferrefier Set & =gixor T Sgdher Pt BT GadT
BRI

e T T Foe BT TRINT R AL SR 1Y

(a) e 1 (b) HaeT 2 3R 3 (c) Paer1 3R 3 (d) 1, 2 3R 3

65. 39 ufkeoe F, I8 Al [ iae 2o o =iy werar

BT AT B Y e foht T STerer 82

1. @1 Ry afth T $T STaaR R

2. TP GDP &t 1fires AT

3. argHed # Mersw T (GHGs) & ST H I7ehT &
AN

e g T Foe BT TRINT R AL IR GFIY

(a) T 1 (b) a1 3R 2 (c) el 3 (d) 1, 2 3R 3

66. fereprerefier Soit & Wy ¥, uReoT § a8 SFAM freTer
ST el @ f Sterary afkac & 57

1. Wﬁﬁwmmm%l

2. m@uwaﬁmwmmmnﬁa%l
:ﬂﬁﬁqwaﬁmmaﬂﬂ@rwaﬁv

(a) a1 (b) PaAeT 2 (c) 1 3R 2 A (d) TAT 1, TE 2

67. 31 Ui H, frr=faRad & 9 fp o UR rfearia:

fremR- fervef foma i &2

(a) TFIHRUT B WERIAT o & IR A, Ryl oiik
freprerelier deit & 1o g

(b) freRre Sei gRT T fie FRTel & rRyey AT &
WWWW@W
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